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qﬁ&ﬁﬁﬁ F ﬁ*ﬁ? ﬁg?T I Instructiousfbr the candidates :

1. GUHTT OMR JT-UF% U¥ AT 1. Candidate must enter his / her
Uy GiTaT F9iF (10 AT aaT) Question Booklet Serial No.

HTTT r%fﬁ‘f . {10 Digits) in the OMR Answer
Sheet. o ;

2. el o a3 vt o a? 2. Candidates are required to give

SFN 31 : their answers in their own words

~ as far as practicable.

| 3. qEA IR ERE W }%?-S} e 3 Figures “in the right hand margin
Pica ﬁﬁ’f?:' c‘ﬂ# ?h , indicate full marks.

4 & &naga‘?ﬁ 9gH & T 4. 15 minutes of extra time have
AT F 15 BAE F SIRIRE  been allotted for the candidates to

- gHT fomr T g : read the questions carefully.
INT A-23/2505-5/10) Page 1 / 32

by:BSEBResult.In



[ 118]

5. 8 T Ei—i':_?‘w gt @vsl § #— 5. This question booklet is divided

UG- U WUG-F|

W-Srﬁma?gﬁwmﬁ 6.

e & et 35 weat &1 3mv

3 g &1 35 gy @ s

H I 71 W FUF 35 FT &

gl g 9% & forg 1 o
Bt &1 s 3w 3 %
3YcT¥ FNTH TT OMR ITH-95% T
few T wgt ey & A/ @
T A7 T Tme ¥4 feat of
TR & WITT / AT W /
&g / ARGT AT FT OMR Ivv-

gFE § qaiT Fvar 549 & s

qeieT aRom STy gy

@vE - 7 & 20 o9 I T

# 1 7%F F forw 2 s iR &,

frd @ fet 10 woAt @1 I
31 Afvarg & | T foRe =9
&vs § 6 gid IwIg WeT g e

& 5% & fow 5 s i 2,

fd @ =8t 3 avat &1 39w
Afrart &1

. fd ¥PR & el SuET @ 8.

53T quiaar I &

IINT A-23/2505~6/10) |

itto two sections -- Section-A

and Section-B.

In Section-A, there are

70 objective type questions, out
of which any 35 questions are
to be answered. If more than
35 guestions are answered, then
only first 35 will be evaluated.
Each question carries 1 mark.
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided -to you. Do
not use whitener / - liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

. In Section - B, there are 20 sﬁort .

answer type questions. Each
carrying 2 marks, out of which

- any 10 questions are to be

answered. . Apart from

these,
there are 6 :

long ' answer
type questions, each carrying
5 marks. Out of which any
3 questions are to be
answered.

Use of any electronic appliances is
strictly prohibited.
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@US - A / SECTION - A

aﬁﬁlﬁ' U9 / Objective Type Qpeétioné

YT WEAT 1% 70 AF % WRF 9vA & @y 9w @ Ry g & fd 8
ﬁ#?rmﬁmgﬁwaﬁﬁm#ompﬁzwﬁ@ﬂﬁaﬁf&ﬁ

357 BT I . e 35x1=35

‘Question Nos. 1 to 70 have four options, out of which only one .is correct.
You hdue to mark your selected option, on the OMR Sheet. Answer any

35 questions. 35x 1 =35
k" ﬁlﬂ%ﬁaﬁwmﬁamﬁﬁﬁaaﬁmﬁw% ?
w  Agt ¥ - cu?
€) . zZn?* 9\ * 2 | (D) | Au?
Which of the follciwing ioné of trénsition clémen;cs is paramagnetic ?-
@ At @ cu¥

(o Fnt  © - (D) Au*.
-ﬁ%ﬁﬁ@%@ﬁﬂﬁ@mw%?

'{A} Fe, Co 3R Ni . -.(BJ_'CuaﬁTZn
© Cu, AgaﬂTAu | (D) Au aﬁtpt

Which of the followmg is called coinage metals ?

(A) Fe, Co and Ni \/]/ Cu and Zn
(C)  Cu,AgandAu (D) AuandPt
INT-A-23/2505-(6/10) | Page 3 / 32
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E N J

3, -WW%WWWWWWW ?
W W | @)
Q) EFF{ | o (D) AEE
W};m gave the first important thcory'of coordination compoundsf?

“(A) Slater | y/ Pauling

(C) . Werner . (D) . Lewis

s Frvfan ¥ @ R T i o RO E 2
.-(A] ?rﬁ%mm | (B). ,K4[F6(Cﬁ15]
{él mrﬁ S (D) e e

. Which of the following is an example of double salt ?

(A)  Bleaching powder (B)/ K, |[Fe(CN)y]

| - © Hypo < Dy DGR ElE

s e i @ W awde R ¥ 2 | ;
() ¥R SR
(© . T AET o TiEE 3

" Which of the following is a bidentate ligand ?
(3) EDTA (B)  Ethylene diamine

(C)  Acetate ion (D)  Pyridine

INT-A- 23/2505 (6710} |
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N4

[Pt(C,H,)CL,|” & Pt %l affediaRor d& &

a)  +1

< +3

(A) *=%

() +3 .

ﬁm%iﬁaﬁ'ﬁaﬁqﬁma%ﬁrég%_?

(B)

- (D)

2

+4

' The oxydation number of Pt in [P{C,H,)Cl,] is

Co

(D)

(A) CH,=CH-CHBrCH;  (B)

(C)  CH,=CH-CH,CH,Cl ()

Which of the following is Vinyl halide ?

(A) CH,=CH-CHBrCH, (B)

(S CH,=CH-CH,CH,Cl (D)

) R . (B
() A (D)
| Enéﬂncs are |

(A) Carbohydrates . (B)

\G[/- Proteins o (D)

+4

T | W3 @

Lipids

None of -thesc

(118 ]

| INT-A-23/2505-6/10)
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frfrfag f @ s dr &

R R
T T . S
(A) 1 C=0 , B =0
R R
C N Bzs
“ R | BF g L=0

Which of the following is ether ?

Rixg: R
A Ne N
®  c=o WR/C_O
R & - _
\' R:\ s
© R/o, . B * 1 =10

a?ﬁﬁgwﬂ?liﬁmqw{l-as%qu Waﬁﬁaﬂﬁﬁr—lﬁﬁﬂf@ﬁﬁ@
FI W A X 2

(A) S - - (B) Wﬂm‘rﬁﬂ
© TEaE | (D).~ FARISAT

Which of the following is obtained on heatmg aqueous solution  of
benzene diazonium chloride ?

.[A] Benzene : ' (B) Benzyl alcohol

~ \}O}’/"/ Phenol _ | (D) Chlorobenzene

11. & GIfsh 37T &l Hig H, SO %Wﬁ%mﬁm%a}ﬁqﬂqﬁﬁﬁ

q S U BT & ? |
a)  co, B cH,HSO,
(©) aﬁaﬁ%m A D) CO

Which of the following is obtained when formic ac1d is heated with
conc. H,S50, ? '

A co, B) CH3HSO,
(C)  Oxalic acid P co
| |INT-A-23 /2505-(6/10) | | Pa'[ge 6 ;'32
by:BSEBResult.In




2,

13.

14.

(118 ]

OH |
CHy~CH—~COOH &l [UPAC AH &
()  dfes e () 2-ETEgEdl WU 7RI
() AR v D) T W HE TR

. : H
The IUPAC name of CH~CH—COOH is

(A] Lactic acid - \(% 2-Hydroxy propanoic acid
(C)  Propanoic acid (D) None of these

- Frcta 4 § @ 2o @ o § 2

) [Ag(NHg),]* T (B) CulCH),
© Ag,O g .(D) CuO
Which of the following I8 Tollen's reagent ?

By [Ag (NH wia I*ion - (B) | Cu{b_H}Q ,
(CJ AgQIO. w - . D) Cuo

-

i 3 & i HE) s ¥ 7

(A)  CH,CHO M{o

(©) HCOOH | (D) CH,COCH,

Which of the following gives Cannizzaro's reaction ?

(A) CH,CHO . (B) © HCHO
(C) HCOOH - (D) CH,4COCH,
IN_f‘-A-QSTZSOS-{ﬁ; 10) Page 7 / 32
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15.

16.

& er

[118)
ﬁmﬁﬂiaaﬁﬁaﬁqmmgzgﬁﬁwmﬁwm%?
@A) T . (B) T
€ wWH (D) el

Which of the following carbohydrates is the most abundant in

nature ?

{A]: | Glucose. | (B)  Fructose

(C) Starch o - \_9)/ Cellulose
ﬁw\%ﬁaaﬁﬁﬁ#‘é@m@ﬁmﬁﬁﬁm% ?
(A)  GHE | | (B) ?ﬁlﬁﬂl

(©) rmﬁr | | ‘ D) Gﬁ@aﬁéﬁﬁ

Which of the following disaccharides is present in milk ?

(A) = Sucrose g “u _ q}/ Lactose

(C) © Maltose L (D)  None of mesc
et 4 1 TR T FeRaT @ FE Y 2
PR . T I =
€ TR s | D) e

- Which df the following is the chemical name of vitamin A ?
(A) Thiamine (B)  Retinol

\9/ Ascorbic acid (D)  Nicotinamide

| INT-A-23/2505-6/10) | ' - éage 8 /32
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18. Prericifaa ® } 97 foerfim st o qemeier & 2

A) AdRB B) CIRD
C) B3RC (D) .'_A@ﬁTD
Which of the follo;wing vita_.'min_s are soluble in water ?
(A)  Aand B (B) CandD
( ~Band C D} A and D

19, Fretittar # Faerd St e i & 9

A RES . B EmE

© g (D) T

From which of the follgwGde insulin sécreted ?

(A)  Thyroid . (B)  Pancreas

(C)  Adrenal bod} . (D) None of these

20. ﬁaquafrmwﬁuw@awﬁqmm% ’

(A) éﬁ %ﬁ | | e | |

€) Wiﬁﬂ?ﬂﬁwﬁ D) T EE

Which of the following discases is caused due to the deficiency of

Vitamin E? - | . E

A Beri-beri. | \/ Scurvy

(C) A.t;;ti-fcrti]jty _ [D] None of these

| INT-A-QS[QSOS-(S!IO] : Page 9 ,:'. 3;2
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21.  Wigfiw 1= Frfefad § e sgos & 2
(A) TR @ (B) EEIGRCD
(C) AW &7 o) T J FIE 8l
Natural rubber is a polymer of which of the following ?
() Ethylene ~ (B) Benzene
r{-9/ Isoprene (D) None of these
_ CH, _' |
22, CH3—¢—Br T [UPAC T ¢
- CH,
(A)  TRERT gled wREs
(B) WHU Hfeet TS
(C) 2-siTl-2-heT Wi
(D) 2, 2-SEHY- 15
| CCHy
The IUPAC name of CH3—?—BI‘ 15
i CH;
(A) Tertiary butyl chloride
(B) Secondary butyl chloride
(C)  2-bromo-2-methyl propane
\9/2, 2-dimethyl-1-bromoethane
INT-A-23/2505-(6/10) Page 10/ 32
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24.

(118]
dfeser £EES T 3T Trfes o ¥ frwd foin F @ ¥ 2
@ T | (B) TeHH
© TR D) T 4 o
Alky! halides are used for the preparation of which of the following ?
[A}I ~ Alkane | .[B) Alkene

(C)  Alcohol S (D) All of these -

Forafitham % o A 1 ¥ -t ¥ 2

(A CHyCcl . (B)  CHCI,

25.

© cc, ~QB~ CcH,Cl,

Which of the following compounds has zero dipole moment ?_

@ cHja . MHC13

| é ccl, - D) cHL |
‘mmwﬁwﬂﬂwﬁ%w@wm%
@) wdfetw (B) T
(© uN | D)

Chloroform on reduction with zinc and water gives

(A) Acetylene - (B).  Ethylene
(C) Ethane | (D)  Methane |
| TNT-A-23/2505-(6/10 T Fege 117 32

by:BSEBResult.In



26.

2F.

28.

© eey - D cs

[118)
ﬁmﬁ?ﬁgﬁﬁﬁaﬁ?aﬁt@qﬂﬁwﬁmﬂﬁﬂm?
(&) IMTENIRST Gelewr (B) WA

(C) T | D) fe dehledt

Which of the following wﬂl_ not give iodoform test ?

(A)  Isopropyl alé¢ohol ' (8) Ethanol

(©) Ethanal (D) Benzyl alcohol
A TR Tl | . (B @%ﬂ@ﬁ’&ﬁﬁ%ﬁ

(C) R wehlee - (D) mém&-'ﬁ Toahieet

Butan-2-ol is a | o

(A) Primary alcohol ' \(B( Secondary aﬁcohol_
(C)  Tertiary alcohol D) D_iﬁydﬁc alcohol

P o @ B o qeEeier 0
(A)  CH,OH | _(Bj CHCla

2
Which of the following is soluble in water ?
(4) CH3OH - (B) CHCl,

€ cci, (D) cCs,

IINT—A-QS/QSOS—[&{ID} ’ Page 12 / 32I
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20. frtedia o 1 Fot wew A 3
w7 B) 8

© o o) 4

The total number of crystal systems is

\(}‘/?. | (B) 8

© 6 D) 4
&) /forfiotan #13 2 wedw Ak 2
(A) 'FﬁET - | (B) ﬁ?f
() WifsaH TR (D), & e

Which of the following is.4d covalent solid ?
| _‘(ﬁ‘)’ Iron B}~ Diamond
(C) Sodium chloride (D) Copper

s B 4

C) 8 : (D) 12

The coordination number of a metal crystallizing in a hexagonal close

packed structure is bsebresult.in

- {Q) 8 \yf/ 12 “ 5
_-—_-_.___—-—-—_—_-_-_ -
' [INT-A-23/ 2505-(6/10) Page 13 / 32
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32, ﬁﬁf%ﬁgaﬁﬁafmaﬂw’ruﬁﬁﬂﬁ%?

(&) ST + e
B) TR aTohieer + Sueer srEIEt
L@/W+wﬁ={

D) FHa m + Taferes mamitse

Which of the fqllbﬁring is -not an ideal solution ?

(A) Benz'en.e * Tc;luene

(B) Methyl alc@hol + Ethyl aJcohol

(C) | Chloroform +Acet011;e |

(D) - Carbon tetrachloride + Silicon tetr'abhloride '
33/, /et # & i st feeh 4 e £ 2

&) T ¥ o B ﬁﬂﬁ"f%‘m’l_

(C)  Sifeet amaT _.[ﬁl WW

- Which of the following can pass throUgh semi-permeable membrane ?

(8L Solvent molecul_és B Solute moleculgé
(C)  Complex ion (D)  Sitple ion | |
GQ af% 18 ¢ T T 1000 g T 3 o o e A
(A)  1HeR | (B) 01 e
@ o1®R . © o5

INT-A-23/2505-(6/10)
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' [118]

If 18 g of glucose is-dissolved in 1000 g of solvent, then the solution
is said to be |

(A) 1 molar : tB)/ 0-1 molal
N

S
0-1

.moleul' (D) 0'5 molal .

H § fopuen Fauw TR offuss @i 2

(A) A H 1% D B od m@n
(C). ST H 1% NaCl | (D) S H 1% JRA
Which of the Ifo.].lowjng will have highest boﬂiqg point ?

(A) 1% glucose in water (B) 1% sucrose in water

\y/l% NacCl in water - (D) 1% urea in water

s6. Pt o & frads s § e s e ¥ 2
(A) CH,CHO (B) C,HgOH

(C) CH4CHOHCH,4 (D) CH,OH

" Which of the following gives Acetone on oxidation ?

(A~ CHgCHO (B) C,HOH
() CH,CHOHCH; (D) CH,OH
37. RS UHMA H frareiier et &
(A) —NH-— | (B) —NH,
© NH - . o NH}
NTA33 2505w ] TYE

by:BSEBResult.In
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38.

39.

40.

.[118]

The functmna_l group of secondary amine is

’ NH, _ (D) NHjJ
CHy~CH~ CH, %1 IUPAC 7 &
NH, . . .
{Al | mige THH @ (B) S eca i
(C) W2 UHN | (D) WE-1-GEE
The IUPAC name of CHy~CH—CH; is
NH2 l
(A} Propyl amine | (B) ..+ Isopropyl amine
(C) Propan-2-amine (D) Propan-1l-amine

Hﬁﬂﬁ&ﬁqﬁaﬁmmaﬁmﬁwﬁwﬁmﬁ?ﬁaﬂﬁﬁ
ﬁ?w%?

(A) @W | (B) U® IegeR U
(©) W@fmﬁﬁq‘h D) sﬂﬁﬂﬁéaﬁ

Prlmary amine on reaction with Gngna:d reagent gives which of the
following ? bsebresult.in

(A)  Analkane (B  Ahigher amine

(C) A secondary amine (D) None of these

frfafaa & 9a@ vee aRE S & 2

(A)  CgHgNH, | - B (CHy),NH

(C) (CH:—; J3N | (D) NH,

INT-A-23/2505-(6/10) |  'Page 16 / 32
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42,

| S [118]
| Which of the following is the most basic ?

(&)  CgHgNH, ' '(B) (CH,),NH

(C) | [CHS]SN- _ o (D) | NH 5

ﬁm%ﬁaﬁﬁﬁ?%wﬁ aTiere & 2
(A) S GRS _(B]' I TEEETEE

- (© p-ETE WO FARES (D) T | HiE Tl
' Which of the fol_lowing is Hinsl:;efg feagent ?

- (A) Benzei_lé su_.llphonic acid

(B) Benzene sulphondmide-
(C)  p-Toluene sulphonyl chloride

(D} -None of these
ﬂaﬁﬁzmﬁgﬁaﬁmarzzxmﬁm%vﬁr%?ﬁﬁm%ﬁaaﬁ

FTEAE 7

e (8 A e

) Udrfeeess (D) T
Which of the following is formed when acetamide reacts with

Br, /KOH ?

- (A) Acetone (B) Methyl amine

(C) Acetaldehyde (D) - Ammonia -

Naclﬁaﬁlﬂaﬁﬁ‘éqamﬁmwﬁwﬁiaﬁﬁﬁﬁaw'-
W | @ HieH
(© wifem sTH (D) EEEE

IINT-A—QS/QSOS—:&;@ | | Paée 17.) 32
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45.

-3:05V,-166V, —-040 V and + OSVrespcctwel
o —

[118)

>Whi0h of the following is deposited at cathode on electrolysis of

aqueous NaCl solution P

(A) Cillorine (B) Sodium

A{C) Sodium amalgam \9/ Hydrogen

ﬁw%ﬁaaﬁﬁ?ﬁmqﬁﬁqawwmﬁ?
(4) YT FuHey (B A FTHed

- (€). H,0 &y | (D) d& % ar
Which of the following conducts electricity in a solution ?

(A Electrolytes (B} "> “Non-electrolytes

(C}) H, O molecules (D) ~ Copper :wir-e
A,B,'ceﬂ?bmgaﬁ%msﬁaﬁg%vwmf—aosv—166v
—04ovaﬂr+oavsﬁﬁf%|mmm§ﬁmwm
M#ﬁ?

A) A : (B . B
© cC | : D) D
The standard electrode potentials of A B, C and D metals are

V. Whlch of the

e —
following would have the h1ghest reducing power

A A . (B B

\/[c/c' | O D

'INT~A—23/2505~{5HOJ | - Page 18 / 32
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46. frdt et ¥ w1 So- TR @ .
W uA | B A

(C)  IxA : o £
A

The cell constant of a conductivity cell is

y/lfﬂ B Al

C) IxA ' : R
€ | | .oy 2

rram%rqwaxﬁﬁm nA+B—oC F T = efrifaa § ¥ feas g
- frefa e st wwA S 7 .
| s4[B]

_1d[A}]
-3 L ®
Q) L‘fg (D) = & ot

The rate of chemical reaction, 2A+B—>C can be represented by

which of the following ?
| -d{B]

(B) T

‘I. .

y All of these |

48. wmmﬁéﬂwmmﬁﬁmmﬁ'w@ﬁmﬁam :

STl &

e K1AIBE qﬁﬂémmﬁ@nwsmmmm
femr o, AT | |

w gEawwEt @ oA @ T &

© e g S ¥ D :ﬁ’l’ﬂt‘ﬁm%

iINT—A 23/2505 (6/10) Page 19.} 32
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50.

al.

[118)

The rate law equation of a chemical reaction is represented ag
Rate = K[A] [BI2 . If the concentration of B is trebled keeping that of

A constant, then rate becomes

(A) ~ double (B)  trebled

(€} quadrupled (D)  nine times
T R s @ A R frefefe § @ R W ek
WY 2 | |

@ T . ®

© R . D W

The rate constant of a chemical reaction depends upon which of the

~ following ?
Temperature (B) Mass
(C)  Weight (D)  Time

ﬁﬁ%wg@aﬁmﬁm%

@ femwe [

r

(C) URREE o (D) SiTEE

 The important oxide ore of iron is

(A) - Siderite B @/ Haematite

(C)  Pyrite " (D) Bauxite

frfafaa 7§ 1 fFad sifwdism IS i SRt ToT HALT + 28 7

@) F,0 | () Cl1,0

{©) Na,O, (D) Nézo

ITNT-A_DAMBNR e rem

by:BSEBResult.In
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In which of the following oxidation state of oxygen is + 2 ?

@A) F,0 B) Cl,0

(C)~ Na,O, (D) Na,O

52. Trfafad § @ W Heanfeea spe i 2
RGN He o " (B) Ne

_(C)_ Xe | : '. , (D) Rn

- Which of the foﬂondng is a radioactive noble gas ?’

‘/wk/ He - B Ne

© ‘Xe D Ra

[118 ]

53. Wﬁﬁﬁﬁamﬁﬁﬂ?mmmﬁﬁmmw% ?

{A} He (B) Ne B

(C) Ar ' (D) - Xe

By which of the following noble gases. the maximum number of

compounds have been formed ? .
(A) He (B} Ne
ﬂ Ar R ‘(pk Xe
so. P 8§ 3 P g A E 2 :

(A) SO, B SO;

© BF,. @ coy

INT-A-23/2505-(6/10) |
by:BSEBResult.In
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| | [ 118
Which of the following is a polar compound ? |

(&) so, | B) SOg4
N BFy . D) Oy
55. Tiafaa § @ # vem dwor Soht 1 g ¥ 2
oW NG C® A
© ca L D) Au

Which of the following is a member of first transition series ?

@ Ny ke
© cd | | (D) : Au.
56.  Cu2*(z=29) w1 TRl forare
(A) {'lsAr ] 3d®ast ._(Bl [15Ar | 3d7 45>
@ [ ;gAr ] 3d° . (D) ['IBAr]-Sldﬁ.‘lsQ.?}'pl

The electronic configuration of Cu®* (Z=29) is

_ j""r _[ 1341']'3‘:18431 ~ (B) [yaAr] 3d74s.2'
SO LeA13d D) (] 3d8ag?ey!
57 Foefofan 3 @ font frw w k2 |
@ R Bl. R
- | (D) ez

iINT—A—23 /2505-t6/101 | e l_ Page 2.2 / :52
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Which of the following contains ester linkages ?

(A)  Terylene - (B) - Nylon ’

(©) Teflon (D) Bakelite

@ ﬁq‘n‘v—rﬁaﬂ'ﬁ@ﬁﬂﬁm@mﬁzﬁ%?

99.

60.

(@A) TEEE 6 | B) A 6,6

© S o) e

Which of the folldwing is éi thermosetting plastic ?

(A) Nylon6 (B) Nylon6,6

\_9/ Bakelite @y PV

) TFAA (B) A 6,6
(C) é’F{c‘vﬁ# (D) SheIEE

Which of the following is a polyamide ?

(A)  Teflon | @ Nylon 6, 6
() Terylene . (D) Bakelite

ot 3 4 P S et F w A A E 2
n A RS (B e
© e o (D)  EEHTACHES

I ey a7y RN P VS
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' id ?
Which of the following is used as an antacl

| | inacetin
(A)  Magnesium hydroxide (B) Phin

i ide
(C)  Penicillin (D) Sulphaniam!

oyt b v -
@ e mEwET g e S
€ UegeeEr A (D) =t |
Saccharin is a,?an -
(A) Aliphatic hyd_rocafbon y Swecteﬁhlg ageﬂf
(C)  Polynuclear compound” (D) ~ Sugar
6. Freeferha 3 ¥ Ferwepr ST W B9 €A ¥ 2
\(y/ C,,H3sCOONa . (B) {'CITHBSCOO}Qéa
(C)  C,,HycCOOH D) 01'5H31coo§i

Which of the following is used as a soap ?

()  C,,H;sCOONa B) (C,;H;5C00),Ca
(©)  C,,HysCOOH (D) C;gH, COOH

s Freetaa 4 & B wsiwiee §

| (a)  HEI S s e
). T E | (’!j} T § o

Page 24 ;’_39
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65.

[118]
Which of the following is antioxidant ?
(A) - Lecithin (B)  Citric acid

(C)  Vitamin E (D) - All of these

T Fife H SR % o and oy
(a) 97 R wAR o e g
B)  WRIWe Wigor w¥ Felk & v @
© Sty g W R
D) FTHAFA
The half life of a first order reaction
[A] does not -_:lepend upon rate constant
(B) | does not depend upon initial concentration
%' depends upon initial-concentration
all of these | | [ .
R o fafy @ Mﬁm%ﬁﬁmﬁﬁmﬁﬁaﬁﬁﬁwmwm
A g ? . |
(A) a}%a;rqﬁqqm? (B) s &7 TeH q3ST
© FEEEERORR (D) @R % e T
Which of the following catalysts is used in the ananut“_actﬁre of NH 3by
Haber's process ?
\W Finely divided iron (B)  Finely divided molybdenum
‘(% Fine]y divided nickel . (D) _Finefly di'_.ri_ded platinum

INT—A'—QS/%?OS—wm]

by:BSEBResult.In
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66.

- 67.

63.

| (118
frfefiaa o @ fea fafe & g7 Preireet o w1 wiva fhal STET € 2

(@) TR B) e
()  3ed . (D) TEAEeRH

By which of the following processes colloidal sols are purified ?

¢ .
M Peptisation - ﬁ/ Coagulation

(C)  Dialysis - | (D)  Flocculation

298 K W T UH 9R&A & gNI (HAfeiaa 4.1 w79 &1 =9 ey
AT At g 2 '

(A} H, ﬁl« CH,
- {C) .CDQ - (D) NH

3

The highest volume of whlch of the follomng gases .would be

adsorbed by 1 g of charcua.l at 298 K ?

(A} Hy . B CcH,

€ Co, | (D) | NH,
TRIegERe Fefeiad & @ frge smen
(a)  AmfrE B) e

[INT-A23/250555 10
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69.

70.

[118]

Pyrolusite is an ore of which of the following ?

(4) Magnesium . ~ (B) Manganese

" (©)  Zinc B (D) Iron

mqa;maﬁmwwmwa:mmﬁﬁww
ﬁmaﬁaﬁ%

(A) T B) WA

© Frem o) FeeE

The process of reduction of a mé,tal oxide by carbon or carbon

monoxide to the metal is called

@« Smeltmg . . 't.@)/l?o_asting

(C) Calcination _ (D) Leaching

ﬁmmﬁﬂﬁmu@%ﬁrﬁﬁéwé€mﬂwﬁﬁ:mw
ﬁ?ﬂ%?

(A) Cr . ! B) Ag
© Cu | | D) Zn

Cyanide process is used for the extraction of which of the following

"metals ?
(A} Cr (B Ag
()~ Cu - - D zn

INTABS 30 P27/ 2
by:BSEBResult.In



E | - | [118]

@ueg - § / SECTION - B
a9 MW / Shoﬁ Answer ﬁpe Questions
mmlémaﬁ'ﬁﬁﬂ?‘fﬁrﬁmm&‘m% | gl & Ry

2 3% fraffa & : 10 x2=20
Question Nos. 1 to 20 are Short Answer Type.' Answer any 10 questions. Each
10 x2=20

question carries 2 marks :

%w%w%?mﬁﬁﬁﬁﬁmﬂmm

Heitug & ? - | | 2
What is molal elevation constant ? How'is.it related to molarity of a
solution ?

2. STIUTH 3TOTah SeaH 87T 1 §937d & ? | 2

What do you understand by abnormal mo}ecul-ar mass '-’
| %at is peptization ? |
ymﬁéﬁ"ﬁti?@?wél L | T
WHat is. So?pﬁoh ? Give an example, | | | .

What is slag ?

INT“A-QS J' 2505-!‘ 1M .
Page 28 / 32
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y’mﬁﬁmﬁwqmwﬁa@ﬁ%*ﬁ? 2

_ Nobel gases have comparatively large atomic radius. Why ? |

/ TR B T E 2 Sew ¥ | 2
What are crj_sjcalline soiids ? Give cxa;n'iple-

'\Vﬁ%ﬁﬂﬁwwmﬁ%? | ' 2

What do you understand by point defectg ?
o. ol %) e o siE & Bifer Alcy, i SuRERT J TR R F#
A & 7 Wi ) | - 2

What is formed when benzene reacts with ethyl bromide in the

presence of anhydrous 4'1’!.1(_)13 ? Give equation.
10. R UeREA FNE 7 P 2
What is power alcc;hol ? _ |
11 SoTEe deel @ W St seed o ¥ 2 - 5
What are the irn.;)ortant oxidation states of lanthanide clf',meqts ?
yﬁwaﬁta&ﬁmﬁwwym | 2
| | Explain the diffcrcﬁce between a double salt and a w_

13 G TR % @ e S 2

Give two examples of synthetic rubber.

|[NT—A-—23f'2505-mnm 1 Page 29 / 32
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14, ' fven o @ £ 2 2

What are preservatives ?
15, NHj, CHgNH,, (CoHg),NH T (C,H,),N Pl &R & Tgd FH o
- | 2
Arrange NH,, C,H(NH,, (C,Hg),NH and (C,Hg)sN in the
increasing order of their basic strength. .
| 16.I el & fagfaacr | € 2 | | 2

What is denaturation of proteins ?

17. %ﬂ?ﬁﬁ%er‘mﬁ%iqum_wm%l 2
Give an exarhple of a solution of a gas in solid. . ‘ , _
ym@aﬁm e R ERE? 2
" What are isotonic sc_:l-ution ? | |
19. Ww%?mwmﬁwﬁmmm%? 2
~ What is soap ? How does it ‘.iCt in cleansing cloﬁlés ?
Jﬁm%ﬁWWWﬁmW%? 2

How are mctais-rcﬁncd by Bessemerisation ?

“TINT-A-23/2505-(6/10) Page 30 / 32
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_ [118]
| ﬁé I 0 / Long Answer Type Questions .

me#zseﬁaﬁﬁwnﬁé‘fﬁa—#sma‘rm?!m*
fre 5 siw Fratfe & | 3x5=15

Question Nos. 21 to 26 are Long Answer Tg,lpé Questions. Answer any
3 questions. Each question carries 5 marks : - 3x5=15

21. aﬁméﬁmmmmﬁmwmm%?mﬁm

FE ? - 2+3

What is the effect of temperature on reaction rate ? What is Arrhenius
equation ?

22,»'1%1?132‘@3&!3?@63?41% ?Qﬂ?ﬁgﬁwmﬁzﬁﬁaﬁwmaﬂ?
cxd N 2+3

_What is electrochemical cell ? Explaiﬁ the structure of an
electrochemical cell. . !

zy(i}' mﬁﬁwﬁwﬁﬁmmﬁﬁl 3
ST 3 F WY §ig THSe @ AR od | -

Explain the principle of manufacturing sulphuric acid by
c ct process. '

Write the reaction of conc. sulphuric acid-with oxalic acid.

[INT-A-23/2505-6/10) | Page 31 / 32
by:BSEBResult.In



[118]

24, “Ygmmul A & AR SEEE U i B 61 2 W 5

"Compounds of transition clements are paramagnectic and coloured,
Explain, °

25,  rEEfAew glieet 3R Hefatas gt o 5a fadg & ar ? 2 x 2}
()  wHfcesss vd tHlRfeceze
(i) UHRfCSERES Ud e |

How would you distinguish between the following compounds by

chemical test ? -

(i) Formaldehyde and Acetaldehyde

(ii) Acctaldehyde and Acctone.

mﬁ%ﬂﬁésﬂtmﬁﬁmwm%faﬁ?ﬁl 5

. i i h h id.” in.
FOHWES both as an alde yt‘:le gnd an acid Expl,a-un _

|INT-A-23/ 2505-(6/10) | Page 32 / 32
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